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OFHEE (TEEMR : BEFREAR'ETL)

Bk ER it THR A
FROZE $600[H=O1E $1,000
OB $300[EEO &l $10,000
SO $1,200|ZF O $10,000
#ROAE $5.000)BROZE $10,000
PO $10,000FEOH $100,000
FO $100,000[FEO2% $100,000
TOHE $4.000[FE O $10,000
AEOE $250|5 O HD) $75,000
AEOE $1,000)5=O% $75,000
g OB $100|FEO= $100,000
ZOR $100|%=OF $5,000
EHOH $200|fs O $2,000
i OF $100[FEOJE $10,000
FOEZE $1,200|% O $10,000
FOLT $1.200TOHE $10,000
PROE $I50PTOE $10,000
ZOH $100[TOJI $10,000
i O $1,000)TOME $10,000
FOE $250PTOE=E $30,000
ROE $1,200)TOHEWHD $30,000
BROL $100| 28 FE A IR /2 ] $15,000
FEOH $100|EEO%E $10,000
RO $300|2 O $10,000
£OH $600[EOE $10,000
ROSH $300[=OfZ $10,000
SOt $300[HEOE $10,000
BRO $200[z2O 57 $10,000
EOTE $100|HO= $10,000
sHOH $100[# O 75 $5,000
BHOR $200/52O Ak $2,000
= O D $200[FR O ZAE $10,000
BROE $100[FRO & $600
BRORY $100[FEOEY $600
TOHk $150[ 2O $600
PROZE $150[#E O Fs % $4,000
BROZZ $150[EO K% $10,000
BROME $250 [ OF% $10,000
BROA $100| = Ok $10,000
BROE $100|BEO* $3.400
FOF $1001 5O $10,000
AEOFE $250[fF O $10,000
fitt O $100|FHCOE $10,000
fitt O3L $100|52OF> $10,000
LO= $100[BROFA $10,000
O $100[ 5 OH $10,000
g O $100)FEO% $10,000
O $100[ RO $10,000
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2O= $100[ZR OB, $10,000
BOT $100[FEOHE $10,000
EHOH $100|FEOHE $10,000
EHOF $100|FE O $10,000
+O=F $100|#ECO7K $10,000
HO $100[F=O#H $10,000
FO% $100|PEOFH $10,000
BROZL $100[#£O $10,000
BROE $100[FO= $10,000
BROTE $100[#F O $600
BO== $100|E=0O+ $5,000
PRORE $100[#OFE £ $3,000
=HON $200[7R O $3,300
FEOF $100[7R O $3,300
ZO® $100|{#HO EJEGEHD $10,000
BROE $100|BHO[E] $10,000
FEOZE $100[BEO%S $10,000
SOt $600|BEOFE $10,000
BROE $600[ S OHE $10,000
8 OMRNE $1,200[ O $10,000
HEORL $600| 8 O= $1,000
w O $1,200[8FOFHH $10,000
SOl $600[ZO $500
#O $1.200(#rORd $100
FOE $1.000)EEO~F $500
S Ot $1.000) O 4= $600.,000
g O[5 $1.200[=Ok $10,000
PO $1.200[FOEFL $50,000
=OF $1,200#8 Ot $1,000
w O $300[EEOH $10,000
=OKE $300[BROTH $10,000
SO $1.200[FFOF $1,200
B O% $4.800|FHOF $1,000
B OZ> $4,200[#8 O R &P $10,000
PO $1.200{#8OfF: $10,000
FOxE $1.200 [ O$H $10,000
BEO $5001i O T Fiff $10,000
#*O $2,000) OFL $500
EOT $3,000) B O Ft $10,000
HOSE $20.000[FR O $10,000
PROXH $900|EFOZ $10,000
MOz $900|F O $10,000
rOE $1,000{F Ok $10,000
HOEE $10,020[Z£O $10,000
SOff $5.500[ZFOEE $10,000
AROBS $600| =05+ $300
=0% T $2,000]47 OF& $3,000
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SOHE $1.200[=O¥H $5,000
BOB&T $4,720|5R O, $10,000
SO $1,200{Fr Ok $10,000
AEOE $250[ B Ok $3,000
HEOFE $1.000[FRO%E $1,000
EAOLEES $100[FEEO $10,000
ZOR $100| O & (0 $20,000
fie OF $100|2 O $2,000
BROE $150FR O $1,000
£0 $100[ZBOfF $2,000
i O $1,000{ZE Ok $10,000
FOE $250)% O $10,000
BROLL $100|FEO $1,000
FEOH $100[BROFL $5,000
RO $300 | O $4.600
ROSHE $300 R O $1,000
SOt $300[ZEOFE $10,000
EOHE $100[EE Ok $10,000
sHOH $100[f OF $7,000
= O $200[22 O $10,000
BROE $100[ZO $500
BRORL $100/f5 O I $3,000
TOHk $150[fR OH $3,000
PROZE $150 B Ot $3,000
BROZ $150|122O% 5 $10,000
BROH $250[FOfEEE $10,000
BROA $100[BO*E $10,000
BROE $100[H O $750
FOF $100[}OF $3,000
AEOFEH $250[ & OB $200
i OTE $100[EOE $200
fitt O>L $100[ ORI $200
LO= $100| FOZFHE $1,200
O $100[3LOLT $1,200
g O $100[BROF $450
g OB $100/2£0O4 $300
2OZ $100[F O $500
BOT $100|7EOE $1,200
EHOH $100[7RO¥ $900
sHO# $100[5T O $3,000
TOF $100| EOH $600
FEOF $100[5OEH $900
TOFE $100[ = Offg $900
BROZL $100[EOTE $300
BROE $100[EHOFE $300
BROTE $100 52 OJH](#D) $600
BIO= $100[FROEH $300
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BROE $100[FROEY $300
FEOH $100[ EOHK $450
FOK $100[FRO%E $450
BROE $100[BROZ $450
FEOFE $100[BR Oty $500
TO $600[FROFH $300
HOMWE $10,000|F O $300
RO L $10,000{ 2 OF $300
RO $1.200);EOF2 $750
O $800[HEOIE $200
i O B $400[EOL $200
TOH $600[40O= $200
KO $600|58O $200
ETOFER $10,000] 4 O $200
PO FT $1,200) % Of $200
PROEFER $600| % O $200
HEOX $800[t5 O+ $300
BROFE $500[EH O $300
BROFE $1.000|EHO$, $300
FHOrtE $200[HOF* $10,000
BEO= $500[f OF= $10,000
BEO $500[BROH#S $10,000
BROBT $1,000[# O $10,000
BOB&T $61,048 B Ok $10,000
i $10,000{BROHE ({EAR) $2,000
ZOHK $1,200{%= O $500
w=OR $500[ O $1,600
PO $100[FROF $3,000
BOST $1,000{FEOE $2,000
BO#H $500[Z Off $2,000
HOPR $200| T¢5F $4.000
=0%F $920| T¢=F $5,000
ROZ $1,000[FF O $1,000
FO $40,000[FRO R $100
WOk $1,200[# OB $100
= O% $1.200[=O*F $1,200
s2OFE $1,200)EEO~F $500
@)L $1,200|FO57 $4.000
BIOHk $1,200|2 O $1,000
OB $1,200[FEO1H $1,100
B OREHD $50,000| EOE $1,000
O $500|EEOH $30,000
PO $100|ZF O $1,200
BOST $1.000| AL O3tE $300
BOH $500[EFOF= $1,000
HO& $250|FEOE $10,000
AEOE $1.000[Z£OFE $2,000
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g OB $100[BEORE $18,263
HOR $100| sl Ot $2,000
EHOH $200[FROF5 15 $10,000
fi OF $100)BR O $10,000
PROE $150[ EOZREH $10,000
£0 $100[ZIOH $10,000
H O $1,000|#EO#T $10,000
FOE $250| 2O H $10,000
BROLL $600[7R O $68,000
FEOH $600[= O $6,000
RO¥% $300[&£ 0O $2,000
ROSHE $300[21OEE $5.000
SOt $300[ 2O $500
BRO $200(Z8OfF $2,000
EOTHE $100[FFOBHER $4.,000
sHOH $100[FFOBHER $6,000
BHOAR $200|HOE $20,000
B O] (#0) $200{#OF5 $10,000
BROE $100| 8 O= $1,000
BRORL $100[#FOFE $10,000
TOHk $150[m= O $200
PROZE $150| EOB $1,000
BROZZ $150[BROZ $200
RO $250|HOF $1,000
BROA $100[22O $1,000
BROE $100[EOE. $15,000
RO $100|220 $1,000
AEOFEH $250|m= Otfg & $12,000
fiE OTE $100[fR O $200
fitt O>L $100FR O $200
LO= $100[FR O $200
O $100|E=0O5 $12,000
g O $100[= Oz $12,000
O $100|E=OFE $12,000
gOE $100|E O $12,000
BOT $100|E=OH $12,000
EHOH $100[=OE $12,000
sHO# $100[= O $12,000
+O=F $600|E=OH $12,000
#O $600|E= O $12,000
TOFE $600[EF O $10,000
PROIL $600|PROFE $1,000
BROE $600[ETOLL $10,000
BROTE $600[H O $1,200
BIO= $600[F OB $300
PRORE $600[FH O $400
= O $200[#7OFE $10,000
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HEOH $600| KO E $10,000
ZO® $600| EO% $10,000
BROE $600[HO=L $600
FEOFE $600 O $250
EEOZEWD $100,000)O%F $1,000
BOHE $77,000] & OB $100
BOH $200,000] & OHA 5% $100
ROshE $10,000|BOE $100
HOL) $10,000|BOE $100
RO $1,200Jit O $100
PO $1,000fit O $100
FO% $4,000(FEOF $150
BOFHE I $600|2£O4 $100
= Of6 $1.000[FH O $1,000
BOE $600|F O $250
R L anEE (HdE) $33,600|F O $250
EO $500[FR Ol $600
AEOE $250[HE O $300
AEOE $1,000)5=O% $300
EAOLEES $100[5OEH $300
ZOR $100[ 52 Offg $300
S O $200[;EOTE $100
i OF $100[EHOH $100
BROE $150] 5 O] (#D) $200
£0 $100[;EOH $1,000
H O $1,000)&2 OF $7,000
ZFOHE $250[ 52 O% $10,000
RO $300[BROEH $100
ROSHE $300]FH Ok $100
SOt $300[ EOHK $150
EOHE $100[FRO%E $150
sHOH $100[BROZ $150
B O] (#0) $200FR Ot $250
BROH $100[BR O $250
BRORL $100[FROFH $100
TOHk $150[BRO 3 $100
PROZE $150|HOF $100
BROZZ $150[HO=82 $250
BROH $250[HEOTE $100
BROFH $100[HEOTE $100
RO $100[HEOL $100
FOH $100[HEOL $100
AEOFE $250[40 O $100
i OTE $100[s0O= $100
fitt O3L $100|BO%h $100
LO= $100[BRO %) $100
O $100[ & O $100
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g O $100[ & O $100
g OB $100[ OB $100
2OZ $100[ 2 OB $100
BOT $100[ 2 OF $100
EHOH $100[ 2 OF $100
sHO# $100[tOF $100
=HON $200|EHOE $100
ZEOM $1.600[EHO#4 $100
ROk $1.000{EO=F $300
TO= $500[FEO $300
ROZ $1,000{ £ O $600
EOZ $1,000]BEOIX $600
=HOH $410[FROF $600
POW $900[f Ot $600
PO $100[21OF= $600
£Z08 $600 R O $600
BOST $500[F=OF $300
BO#H $500FE O $300
HOE $1,000|BEOF $300
MO $400[H= O $300
RO $3.000)1220% $30,000
BOH $3.000)EEO~F $500
TORB $1,000) B O $1,000
EEO/KER $3.000[FE O $1,000
S Ot $2,500)F O $1,000
SO $2,500) it O%F $5,000
SMEST $20,000/ZFO $10,000
JBO#K $10,000| 5O $3,000
RO F5 5 $10,000| 5 O $10,000
FHOrtE $200[ OB $10,000
iROES $10,000)BR Ol $1,000
FROH $10,0001 %0 $10,000
MO $10,000[EHO B $10,000
=0 $10,000[BROZ# $10,000
FOZEH $10,000{BHO $10,000
ZO% $10,000)F=O&R $10,000
fiti OF5 5 $10,000| 4RO $10,000
FO $15,000| 8k O & $10,000
EOTT $5,000| FE=OXK $10,000
H OFE $2,000{#5O 4% $7,000
FO $15,000|F= O+ $5,000
GOVE $5,000[#HOEF s $3,000
FOEZL $5,000|HOF $1,000
s O $3.000|# Ot $10,000
H OBRIRED $10,000[7xOF%H $10,000
OB $1.000|1#rO%EE $10,000
Oz $1.000]EEO H $10,000
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BEOE@HE) $50,000| 2 OF $1,000
BROZHk $10,000|ZBO1H $2,000
PROKGRK $500| 8 O= $1,000
PO $30,000] 8 O $10,000
BROZR $40,000|#FOF $10,000
FROZR $500|FE O $10,000
PROE $500| O $4,000
v O $500[AOEL: $1,000
MO $5.000[ZEOE $20,000
w= O $10,000) 5= O $10,000
EEORRED $10,000|§E O30 $10,000
BRO L $1,000|E=OF $500
HOMAH $3,000| O $10,000
HO &L $10,000[EO $500
208 $20,000EEO %= $6,000
FO& $1.000[FO $10,000
HOHE $10,0005FO $10,000
EEOFZ(HD) $10,000| %O $10,000
BOH $10,000| 21O $10,000
HOFEHE $10,000{Z=0O7T $10,000
EHOES $3,000{ 5 Of# $10,000
EEOFEAG $10,000|=0OE $10,000
EO $500 O $250
PO $5.000| £ OH $5,000
B OFE $10,000);HO%E $1,000
BIOEE $5.000) & OBH $100
LOBRK $10,000|BOE $100
HORE: $20,000| it O $100
OGRS $10,000| B O $150
AOME $10,000{2£OFH $100
BROTE $5.000[FH O $1,000
BRO Bk $2,000|F O $250
RO $10,000[5RO*% $300
PROE $1,000| FOFEE $2,000
sHOHL $10,000)5ROEF $300
BROBE $1,000) %Ot $300
POIE $10,000|# O $10,000
HOFK $10,000{BHO $600
HO% $10,000)EO1H $100
#HO= $10,000[FHOTE $100
O $10,000|BHEOA $800
BO% $10,000{ &= O (#70) $200
B O8BE $10,000{t5OF5 5 $600
BRO $10,000|#O%F $600
BIOR $10,000{Z=OF $10,000
EEO/KER $10,000|1#£O4= $10,000
FROIH $10,000[£O & $10,000
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FIOH $10,000)iF Ot $10,000
=HOR, $10,000[#£OBH $10,000
FHO=E $10,000)4ECO =& $10,000
PROZ $10,000)A£ O $10,000
SOl $10,000| B O $100
FOE $1.000[FROBK $100
OB $100[ EOHK $150
BOST $500[FRO%E $150
H O $1.200(FROZ% $150
BROZ $1,000]BR Ot $250
FOF8 $1.200[FR O $100
LOSTE $10,000[BEOE $100
L O% $3,000| 52 OF $100
EOX $20,000[#:OF$2 $250
TO $600fit OTF $100
EO/N $10,000[}ttOL $100
ROZ $10,000|14CO% $100
PO $10,000|68CO &) $100
RO $1,200( % O $100
O $800[ 2 O&L $100
H O $400[ 2 OF $100
TOH $600[t5 O+ $100
FZ Ol $600[EH O $100
AROR $600[EHO #h $100
ORI $600|FE O $5,000
O $10,000{BROFE $1,000
ZOTT $10,000[ZZ O $10,000
BEOEHED $30,000{ZR O $10,000
ROH $60,000[EFO T i $10,000
ZOF $10,000|#ROME $10,000
PRORE $10,000[ZIO $1,000
RO $10,000|HOFIF $6,000
HO= $10,000[EO%E $10,000
=OES $10,000|2 O $10,000
BROME $10,000]fF O $10,000
Z0 $10,000[E= O $10,000
FOR $10,000EEO>L $10,000
T OL $5.000[z=O 1 $10,000
ZOME $10,000| = O%k $10,000
£ZOH $10,000[FO $1,000
OB $10,000|#FO % $10,000
RO $10,000) 5= O $10,000
HEOXL $1,000|FRO %% $10,000
BRO%E $1.000(#R O $10,000
FO $10,000[ O $10,000
O/ $10,000|21Of% $200
HOE $180,000{Z£O % $10,000
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HOR $10,000/EEO1T $1,000
FOH $10,000|EEO $8,000
BOFRE $10,000| B O $600
SO $10,000| 52O & $500
EO5% $10,000)fOBH $10,000
FOHEZE $2,000{400O%C $10,000
HO% $10,000|Z= 0= $10,000
PHOZ $10,000{#5O $10,000
BOfE $10,000{ZO% $10,000
FHOHL $10,000| PO $100
BOEAL $3.000)EEO~F $500
O $10,000)4£O= $10,000
PO $10,000[7#O $20,000
sTOLI $5.000)1210 $5,000
FI O $10,000|BEOEF $10,000
O $10,000{BBOE $1,000
RO5R $1.000|BEO &l $10,000
BROE $10,000[£O H $3,500
FIOFEER $10,000{ Ot $10,000
O $10,000{BEO%0 $500
RO $10,000|F OF5 $500
BRO $10,000) B O1H $500
s ORI $1,000) & OBH $1,500
HO $1,600[=OT= $10,000
= O $10,000{F=O&E $10,000
FEOHE $10,000{BHO $10,000
FEO#E $10,000[F=O%E $1,500
FORE $10,000|BR O $6,700
H=O $10,000{ZFOFz $10,000
RO $10,000[Z£O = $20,000
O $10,000[5R O $6,650
PROBL $10,000[5RO= $6,650
BO=H $10,000|HHO# $1,000
SOE $30,000|fs OH $2,000
BIOHE $10,000|5= O $10,000
BIOfE $10,000[= O $10,000
ZIOR, $10,000|B8O7 $10,000
BIOk $10,000| B O % $100
2O $10,000[EO $500
fTOF $10,0001 75O $5,000
EORE: $5,000[&r O $5,000
2O, $10,000|EEO & $10,000
BO%E $10,000 |k O $5,000
EO $500[ &£ OH $5,000
BOZE) $100,000[&x O = $10,000
Ok $20,000|&x O $10,000
TOEE $2,000 O $1,200
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BOHR $200,000| 8O E $10,000
O $20,000{Z£ O $10,000
ZIOE $5.000[EEOBEER $10,000
ENOY/N $3,000[7 58 2 L AR B IR (FE) $20,000
=0 $10,000[BROE4E $10,000
HROA $10,000580% $10,000
FOF55d $10,000| = O $10,000
BAOF% $3.000) PO $10,000
PHOME $3,000)#H# O $1,200
FOL $500[ = OHE $1,200
FOE $500| O & (#0) $20,000
BROM $10,000|ZPO1H $2,000
PROZE $200| 8 O= $10,000
PRO®E: $200|FHOH $10,000
PROZE $200| 2 O $10,000
BRO 5% $2,000) O $3.000
Ok $1,000[#HOEE $10,000
PROE $1.000{ZIOE $10,000
PO $5.000)5RO= $2,000
FOuk $2.000[5ROZLAH $2,000
FOE $2,000{ O FaTEAf $1,200
FOEKE $2,000)FEO H #k $3,000
Ol $10,000)HO $250
20X $500[}OF $1,000
£Z0%# $500[ & OB $100
A OFEEAE $3.000|8OE $100
BROTT $10,000| i O $100
RO $1,000{FEOF $150
£0% $500/2£0O4 $100
#HOZ%E $500[FHOZE $1,000
O $10,000[ZF O $250
J O $10,000|5O* $300
BOR $10,000)5ROEF $300
sTOfE $5.000) %Ot $300
BOH $20,000E O $100
MO $10,000[EHOFT $100
BEO $1,000{ 5= QA () $200
=0% T $500|122OFZ $2,000
BRO % $2,000) B O $100
BO#F $10,000[FR O Rk $100
BROFE $10,000)| £ OHk $150
fTOR $10,000) s O % $150
FOWE) $10,000[BR OZ $150
OB $10,000| B Ot $250
BROZE $10,000) s O #5 $100
ZOIE $10,000|F O%je $100
BROE $10,000 52 OF $100
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RO $100,000[OF# $250
BHOZAE $10,000 O it $100
PROHE $10,000 it O $100
HOH $10,000|14CO= $100
O $10,000|68CO &) $100
PO $10,000] & OF¥ $100
O $10,000| 8 O $100
=HOE $10,000| 8 OZ% $100
BOw& $10,000{#5OF $100
BOZE $2,000[EHO%H $100
T Og $10,000{EHO#4 $100
FHOTE $10,000]BR O %k $1,000
FORE $10,000{BROFE $1,000
+OH% $10,000|BHOFZ $500
FO% $10,000{AKO= $150
FOE $10,000[FROE $100
FOHE $10,000[F#RO R $100
FO T $6.000)EEO~F $500
s T O $5.000) 5 O $5,000
HEOF5 6 $2,000[F=O4F $10,000
BROSL $5.000#OF £ $4,000
£0ff $10,000|5£0E $10,000
ROFE#E $10,000) AL Ot $10,000
EO) $10,000|E= O&Z $10,000
FO¥K $10,000|122OF& $50,000
PRON 4 $10,000[BROFX $10,000
PROFEE $10,000)TO . $10,000
FHOrtE $200|= Ot $6,000
ErOBEGD $10,000{PBRORE $2,000
BO®E $10,000| 8 OFF $500
HOZE $10,000) /i Or5=2 $20,000
BOB&T $18,630)ZO1E $500
OB $100[EEO=E $20,000
BOST $500[=HOEZE $1,000
S OA $10,000[5R Ol $10,000
O $50,000[F= Ot $10,000
RO $10,000|FBOHE $10,000
RO $10,000{Z£OR&E $500
FOHEE $10,000|#k O$#, $500
BROAE $10,000[HOER $1,000
HO% $10,000)5OFE $1,000
FO&E $10,000| O $500
BEOR, $20,000[5F O $2,000
e ORE $10,000| kO $1,200
BEOHE@HE) $10,000[7O7K $2,000
£ZO-H $10,000FEO 2 $500
FOfE $2,000|F O $500
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EXEE $10,000| R OFE $1,000
HEOE $250[%0O $1,000
AEOE $1,000)5=O $10,000
g OB $100)4EOF $10,000
HOR $100|FEOHE $10,000
S O $400[FROA" $10,000
AEOFE $300[FEOH $100.,000
fie OF $100[EOK $1,000,000
BROE $150[ETFOEHD $2,500
£0 $100[ETOFEEHD $2,500
i O $1,000| 2877 5F $30,000
ZFOHE $250 O $250
RO $300[HOF $1,000
ROSHE $300[ & OB $100
SOt $300[HOE $100
BEO $200[EOR $100
EOHE $100[BR OF $150
sHOH $100/2£0O4 $100
B O] (#0) $200|HOZ= $1,000
POPT 5 $5.000|F O $250
sTOlE $10,000|F= O $300
FROET $10,000|5O* $300
FOHE $10,000)5ROEF $300
FOEAeE $10,000| 52Ot $300
ZF Ot $10,000EO*E $100
5 O $10,000[EHOFT $100
BROH $100 52 O] (#D) $200
PROBY $100|PROZE $7,000
TOHk $150[BROEH $100
PROZE $150[FR Ok $100
BROZZ $150[ EOHK $150
BROH $250[FRO%E $150
BROFH $100[BROZ $150
RO $100[BR O $250
FOH $100[FROFH $100
AEOFEH $250[BRO e $100
fiE OTE $100|HOF $100
fitt O>L $100[HO=82 $250
LO= $100[HEOTE $100
O $100[HEOL $100
g O $100[s0O= $100
O $100|BO%h $100
2OZ $100[ & O $100
BOT $100[ 2 OB $100
EHOH $100[ 2 OF $100
sHO# $100[tO+F- $100
=HON $400[EHOH $100
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POZ $300[FHO#h $100
BOfE $10,000{+=O= $300
s O $5.000)FE O $300
RO $10,000[F=OF $300
MORE $10,000)FE O $300
sTOARCH $10,000|F OF $300
BOR $10,000[FE O $300
BO& $10,000)FOFE1L $50,000
= Ok $1.000[5 O $5,000
BEOZ $20,000[=O $10,000
BOE $10,000{ =0+ $3,000
PROTESE $30,000[BRO F 22 $20,000
SO $10,000 P& & EAIRA E $60,000
/et $3,918,448 /et $5,266,613
=1 $9,185,061




